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10 REM LOGICAL IF STATEMENT
20 INPUT N#, AGE,WAGE
J0 TF  AGE >= 35 AND
WAGE < 400000! THEN 5@
40 GUTO 20
o0 PRINT N#
60 COTO 20
10 END
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1@ REM %x¥ PRICE PROGRAM %%¥

20 INPUT “D$. P, N”:D%.P.N
30 IF D$ = "X" THEN PRINT
"TOTAL PRICE = ":TOT:STOP
40 IF N <= 6 THEN
C=P%N: GOTO 70
50 IF N <= 10 THEN
C=.93%P %N : GOTO 70
60 C= .88 %P %N
70 PRINT D$.P.N.C
80 TOT = TOT + C
90 GOTO 20
)
D$. P. N7 BANANA,L200.108¢
BANANA 200 100 17600
DS, P. N7 EGG.50.20
EGG 50 20 880
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10 REM JUNSU TEST PROGRAM

20 READ JumMsu

38 PRINT JUMSU = " o JUNSU
:TAB(20) ;

40 IF JUMSU >= 80 THEN PRINT
"GOOD”  ELSE PRINT "NO GOOD'

o0 GOTO 2@

60 DATA 65.78.100.85.55.95

10 END

SV

JUNSU = 65 NO  GOOD

JUNSU = I8 NG  GOOD

JUMSU = 100 GOOoD

JUMSU = 85 GooD

JUMSU = 355 NO GOOD

JUMSU = 85 GaoD
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80 PRINT X
90 GOTO 1@
0@ END

110 DATA 234.
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40 IF S »= 500 THEN GUTG 70
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1@ INPUT X
20 N=N+1
2 IF N » X THEN GOTGO 70
4B M = INT ( X ~ N 3
50 -IF M % N =X THEN PRINT

N7
60 GOTO 20
0 N =0
80 PRINT COTO 10
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10 1=1+1
20 READ A . B
30 PRINT &4 "% " B+ " ="
s A% DB

40 IF A=B THEN N =N+ 1
9@ IF I =95 THEN PRINT : PRINT
" COUNT = 7 : N : END

60 GOTO 10
Yo DATA 2.2 .8 .7.12 .6,
9.,8,5.93
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l MAX = 0

20 I =1+1

30 INPUT X

4¢ IF X . MAX THEN MAX = X

50 IF I =95 THEN GOTO 70

6o GOTO 20
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80 END
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20 IF I = 10 THEN END
J0  READ X
40 N =N+t
o0 PRINT ~ %7
66 IF N =X

THEN PRINT : GOTO 1@
T GOTO 40
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19 PRINT ~ DATA 7 . 7 DIVISION ©
"REMAIN ~
20 PRINT 7== smmme
39 READ X

40 MOK = INT ( X ~ 71 3

50 RE = X — { MOK * 7 J

60 PRINT X . " 7" . RE

M IF X = 63 THEN END

30 GOTO 20

90 DATA 90 , 26 , 8 . 211 . 48 .
145 . 63

(22x14) 90, 26, 8. 211. 48, 145, 632
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19 READ X
20 A=A+l
30 M5 = INT¢(X 573 RS
=X - (Myx5
40 M7= INT ¢ X~ 7 :RT
=X - (M%7
56 IF RS = R7 THEN
N=N=+1 : PRINT X
60 IF A =7 THEN 89
7% GOTO 10
30 PRINT ~ COUNT = " : N
99 END
108 DATA 80 . 26 . 3 . 211 . 48
145 . 63
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1@ READ A.B
20X =A:Y =B

J0 IF A > B THEN GOTO 50
49 GOSUB 100

9@ PRINT "y=":Y

60 END
P =1 X-
80T =X-p
WIF T=0 T
100 P = INT(X-Y
116 T = X ¥
120 1IF T

130 X = Y

140 GOTO 100
150 RETURN

160 DATA 32.50.45.5
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1@ REM EX - 1

20 PRINT "X"."Y"

3 FOR X =1 Ta 1@
WY =T%xX+8

2@ PRINT X.Y

6L NEXT X
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4 36

5 43

6 50
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8 64
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10 REM % SAMPLE PROGRAM 1S
(FOR-NEXT) *x
20 FOR I = 5 TO 7.5 STEP .20
39 PRINT I
4@ NEXT |
& =)
O D.20 55 5.715 6 6.29 6.5
6.7 7 7.25 1.5
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10 REM %% SAMPLE PROGRAM IS
(FOR-NEXT) %%
20 FOR 1 = 168 TO 10 STEP 19
30 PRINT I:
40 NEXT 1
D@ END
(£ %)
100 90 80 T0 60 50 40 30
20 1@
(F : for~next# kol printFo] ¢low &
WElhhe] kgAY E# S printEo] for—
AA "o 2714
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10 REM % SAMPLE PROGRAM . IS
(FOR-NEXT) *¥

20 FOR 1 =1 TO 3

30 FOR J =1 TO 4

49 PRINT "I = "»‘I."J = J

o8 NEXT J

60 NEXT I

)

1= 1 J= 1

I=1 J= 2

I=1 J= 3

I = 2 J= 1

I= 2 J= 2

I = 2 J= 3

1= 3 J= 1

I= 3 J= 2

I =3 J= 3
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ol J= 1~ 37kx] #WEl oo} H3ko] 17} 2
o d Je= 1~37kx =3t 17k 34 & JH4
1~ 37tz W33

(TI'HZO) r’}'n -5_—201-% _,TL_%CB _?_"'] J'Q]' Log
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10 REM *% SAMPLE PROGRAM IS
(FOR/NEXT) %%

20 M = 15
30 PRINT " K”." LOG(K)>"."EXP(K)”
40 FOR J =1 TO M
0@ PRINT J.LOG(J).EXP(D)
60 NEXT J
70 END

F %)
K LOGCK) EXP(K)
1 0 2.718282
2 6931471 7.389006
3 1.098612 20.98554
4 1.386294 54 .598195
0 1.609438 148 .4132
6 1.791759 3.4287
7 1.94991 1096.633
8 2.0719442 2080 .958
9 2.197225 8103.081
10 2.302585 22026 .41
11 2.397895 08874 .13
12 2.484907 162754 1
13 2.564949 442413 4
14 2. 633058 12626ua
15 2.70805 3269016
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1@ REM %% SAMPLE PROGRAM 1S
(FOR/NEXT ¥ #*x*

— 54—

20 FOR J = 32 TO 48 STEP 1
30 K = 5-9 % (J-32) : K#="#t ng~
40 TC = K + 2773 : TC8% = "Hugf t#Hun

20 PRINT TAB(4);:J
60 PRINT USING k8 : K;
70 PRINT USING TCE = TC

80 NEXT J
90 END
(£ #)

J K TG
32 2.08 273 .6000
33 0.56 2173.5556
34 1.11 2714 1111
35 1.67 2714 .6667
3 2.22 275 .2222
31 2.718 2710.7T18
38 3.33 276.3334
39 3.89 276.8889
40 4 .44 27TT.4445

(F 1 J9] Z7)2+= 3202 2 E2] & 40224

1ok K$, TC$S) 9lult A3l
Holm ££Ad F9)

(P/G)
10 REM *%k SAMPLE PROGRAM IS
(FOR-NEXT) *x%

20 YON = 10000

30 K=.18

40 FOR AB =1 TO 8

00 HAP = WON % (] + K)"AB - ¥0N

T# = "HuHud nHp-
60 PRINT TAB(2):AP:TAB(6):WON:~
70 PRINT USING T8 : HAP

8@ NEXT AB
99 END
& %)

I 10000 1800.001
2 10000 3524 .001
3 10000 6430 .323
4 10000 9387.781
o 19000 12877.580
6 10009 16995.550
T 1000Q 21854 .7100
8 1000@ 27588 .610
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